
[image: image1.jpg] [Queen siing [Frncesss
Queen' | room chamber
oong | [Princess's
dressing room
Prince
playroom
. Kings
Queens | Kings |
throne | thwone | & [ queens
g | oM | mom |0 | rading
ey * | om
i
d
Kings | 9| Kings
& Kings | siting reading
mﬁﬂ dressing | room room
toom

Level 3




[image: image2.jpg]


[image: image3.jpg]


[image: image4.jpg]


Name ____________________________


Date _________________________

Probability and Area – Homework


1. The diagram at the right shows Level 3 of the Treasure Hunt game.  Before receiving the first clue, a player must guess whether the treasure is in a room used by the king, a room used by the queen, or a room used by the princess.  When the treasure is actually located, a player receives bonus points if his or her initial guess was correct.  

a) What is the probability of the treasure being in the King’s rooms?  Write the probability as a fraction, decimal, and a percent.

b) What is the probability of the treasure being in the Queen’s rooms?  Write the probability as a fraction, decimal, and a percent.

c) What is the probability of the treasure being in the Princess’ rooms?  Write the probability as a fraction, decimal, and a percent.

d) Which rooms have an equally likely chance to have the treasure placed into it?  Explain your reasoning.

e) Suppose you have just entered Level 3.  To have the best chance of getting the bonus points, should you guess that the treasure is in one of the king’s rooms, one of the queen’s rooms, or one of the princess’s rooms?  Explain your reasoning for you choice.



2. Use the dartboards above to answer questions a – d for each dart board.

a) If a dart is thrown randomly at the board, what is the probability that it will land in the region marked A?  In a region marked B?  In a region marked C?  In a region marked D?  Write the probabilities as a fraction, decimal, and a percent.

P(A) = 



P(A) =



   P(A) = 

P(B) =



P(B) = 



   P(B) =

P(C) = 



P(C) = 



   P(C) =

P(D) =



P(D) = 


   P(D) =

b) Explain what you had to do to determine the probabilities of getting the dart into the different regions on the dartboard.

c) The board is used to play a four-person game.  Darts are thrown randomly at the board by a “laser dart thrower”.  Player A receives points when a dart lands in a region marked A, Player B receives points when a dart lands in a region marked B, and so on.  Make up a scoring system that would make the game fair.


3. a)  For the following figures (dart boards) with three concentric circles, figure out the area of the shaded region.  The inner circle has radius of 1 inch, the middle circle has radius 3 inches, and the outer circle has radius of 5 inches.  
Please show all of your work.
























































b) Determine the probability that a randomly thrown dart will land in the shaded region of dartboard A.  Write the probability as a fraction, decimal, and percent.

c) Determine the probability that a randomly thrown dart will land in the shaded region of dartboard B.  Write the probability as a fraction, decimal, and percent.
4. Consider the following dartboards.  Determine the probability that a randomly thrown dart would land in the shaded region and the probability that it would land in the un-shaded region.  Please show all of your work.


a)      





b)











c)






d)  







Dartboard A





Dartboard B





Dartboard C





Dartboard A





Dartboard B





Dartboard C





Dartboard C





Dartboard B





Dartboard A





Dartboard B





Dartboard A





Areashade = ___________





Areashade = ___________





3 cm





15 cm





5 cm





Diameter of circle = 40 cm





P(dart lands in shaded region) = 





P(dart lands in un-shaded region) = 





6 in





6 in





10 in





Base of Triangle is 40 in and its height is 24 in.





10 in





P(dart lands in un-shaded region) = 





P(dart lands in shaded region) = 





P(dart lands in un-shaded region) = 





P(dart lands in shaded region) = 





3 ft





4½ ft





¾ ft





½ ft





P(dart lands in un-shaded region) = 





P(dart lands in shaded region) = 





Radius of large circle = 12 in


Radius of smaller circles = 1 in








